
Mathematical Induction
Step 1: Prove the result is true for n = 1 (or whatever the first term is)

Step 2: Assume the result is true for n = k, where k is a positive 
integer (or another condition that matches the question)

Step 3: Prove the result is true for n = k + 1
NOTE: It is important to note in your conclusion that the result is 

true for n = k + 1 if it is true for n = k
Step 4: Since the result is true for n = 1, then the result is true for 

all positive integral values of n by induction

or using set notation;
Assume the result is true for n = k where 

or using set notation;
Since the result is true for n = 1, then it is true
by induction
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Prove the result is true for n = 1
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Hence the result is true for n = 1

Assume the result is true for n = k, where
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Prove the result is true for n = k + 1
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Hence the result is true for n = k + 1 if it is also true for n = k

(by assumption)

Since the result is true for n = 1, then it is true                  by induction
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Prove the result is true for n = 1
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Hence the result is true for n = 1
Assume the result is true for n = k, where
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Prove the result is true for n = k + 1
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Proof:
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Hence the result is true for n = k + 1 if it is also true for n = k

Exercise 2A; 2acfh, 3, 4b, 5c, 6, 7, 8, 9, 11ac, 12, 13

Since the result is true for n = 1, then it is true                  by induction
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